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1.

——last-ruler-of the Mauryan—dynasty?

PART—A / ¥TT—A
(i) GENERAL STUDIES / 9WHI 1eadd

Who among the following was the

(A) Kunala

(B) Dasharatha

(C) Brihadratha

(D) Samprati

Abdur Razzaq was the ambassador

of which of the following countries
to visit the Vijayanagar Empire?

(A) Afghanistan

(B) Turkistan

(C) Oman

(D) Persia

Who among the following had

launched the Wahabi Movement
against the British rule in India?

(A) Syed Ahmed Khan

(B) Maulavi Ahmed Khan

(C) Choudhary Ahmed Khan

(D) Mohammad Ahmed Khan
Which of the following philosophies

was propounded by Adi
Shankaracharya?

(A) Advaitavad
(B) Dvaitavad
(C) Dvaitadvaitavad
(D) Vishistadvaitavad

1.

T Y I AR o Sifom v on?

(A) P

(B) TIRY

(C) FeE=A

(D) |

TSR ST § A e ST TNl
Frafafaa & & frm 3w 1 aiga a7

(A) BT

(B) gehiem™

(C) 3=

(D) ®RE

Ia # fofewr s & T 3 @ Rl
T AR 1 AT fohan on?

(A) TR sTEwg @i

(B) Hieiat 3Tgwg @f

(C) =Nut ergmg @

(D) HgwRe gHe af

anfe v 4 fr=fafas & @ form <l
%1 wfaure foan?

(A) JTgdaTE

(B) sdare

- {C) SagqER

(D) faRmERgaR -
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is specially worshipped during the
‘Rath-Yatra’ of Dussehra festival in
Bastar in this State?

(A) Danteshwari
(B) Bamleshwari
(C) Samleshwari

(D) Mahamaya

5. Which of the following temples was 5. F=fafae & @ #F-w 4R ™ w=Em |
carved out of a monolith? AU B =T 1Y
(A) Kailash Temple, Ellora (A) e GfR, TE
(B) Dashavatar Temple, Devgarh (B) 2IMEER G, 29 B
(C) Parvati Temple, Kachna ;C; T R, EFF:FIT .
(D) Jagannath Temple, Puri (D) e s, g
%' regarded as the creator of wniverse | 6. U 3w deght 4 ¢ & Bk g
in Early Vedic culture? Tmiorsat 7rm o 87
(A) Vishwakarma (A) Treaeat
(B) Hiranyagarbha (B) feroami
(C) Brahma (C) sem
(D) Vasudeva Krishna (D) WW
7. Which of the fol%o_wing tribes of this . T8 T 6 BreRriad ¥ ¥ feg see w5
State has a traditional youth-house, ¢ ,
named ‘Ghotul? TR -8 g e &7
(A) Muria (A) gren
(B) Maria (B) i
(C) Baiga (C) sm
(D) Agharia (D) e
8. Who among the following goddesses . TH TSI % 9% T <¥Eq ud i wEE S+

I T A e I K v o A
STt 37

(A) Forad

(B) swervadt
(C) wwerw
(D) #HemwE
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9. Which of the following festivals is 9. W ST FI T T T BIEH 919 A
celebrated by the Gond tribe of this ffafas & @ sF-w 'R w9
State in the month of Phalgun? Irar ?7
(A) Kaksar (A) FHAR
(B] Meghnad (B) S
(C) Larukaj

(C) TRhIS
(D) Navakhani
(D) FarEH!
10. Who among the following was
the author of Kul Ke Marjad, a | 10. T80 4 %4 3@ {59 & BUETE 949
Chhattisgarhi novel of this State? ‘W * AEIE o A@F 97
(A) Vidyabhushan Mishra (A) ﬁmwﬁm
(B) Amritlal Dubey
(B) emgaa 3o
(C) Banshidhar Pandey )
(C) fier yroR
(D) Keyur Bhushan
(D) 3
11. In which of the following regions
of this State has the bamboo art 11. 39 9 & Fafafaa & @ g 93 & afg
reached its excellence? T el ma'@mmqgaﬁ%?
(A) Sarguja (A) wagET
(B) Bastar B)
(C) Rajnandgaon -
- (C) T
(D) Koriya
(D) wiR=
12. Which of the following is not the
characteristic of the culture of 12. f=fufaa 4 @ *¥F-9 w9 =g h a’;@;ﬁ[
this State? 5t Frdvwa T 7

(A) Folk song and folk dance
(B) Folk literature and folk stage
(C) Folk music and fairs

(D) Organization of Kumbh every
fourth year

(A) @ i @ AE T

(B) e Wifged T ek H

(C) e @i wd A

(D) W NI T FH Hl ATSH
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13. To which of the following dynasties

King Vilastung belonged, who built
the Rajivlochan Temple at Rajim in
this State?

13. 38 U9 ¥ ufom for tsiaa=m Al s m

Tren wen foemagn Fefafea § @ fem
TeES | qraf-oa on?

14.

15.

(A) Pandu
(B) Sharabhpuriya
(C) Nala

(D) Soma

By which of the following treaties
the Bastar region of this State came
under Maratha control?

(A) Treaty of Paralkot
(B) Treaty of Chitrakot
(C) Treaty of Kotpad

(D) Treaty of Barasur

During which of the following
movements Forest Satyagrahas took
place in this State?

(A) Non-Cooperation Movement

(B) Civil Disobedience Movement

(C) Individual Satyagraha .
Movement

(D) Quit India Movement

14,

15.

(A) g
(B) YR9g™
(C) T

(D) €W

fafaftgs 4 9 frm afr g0 3@ =9 =
TER &7 WeT FEeer #§ 1 =t

(A) WeThIE 6 Aty
(B) Ferpre 6 @fa
(C) HreUrs &t °iY

(D) SR |

Frafafea 4 ¥ fFa oiem & N M
TS | S e gu?

(A) ITEFA A=RIEH
(B) GieF™ oramm =i
(C) =R TemIg ST=IeH

(D) Rd BIET AR
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16. Match the following : 16. F=fafaa =i gafem Hifvm
List—1 List—II "
a. Assam Himalaya 1. Tista to Brahma- W—I W—H
putra River a. gy feaem 1. ﬁwﬁaaga.ﬂaﬁ. SU—
———b-—KumaunHimataya 2. Sutlej to Kali .
River b. T forem 2. Hage @ @Al T
c. Nepal Himalaya 3. ;ah to Tista c. Yoa Raem 3. Fh @ e 1@
ver
d. Punjab Himalaya 4. Sindhu to Sutlej d. o e 4. iy @ waew @
River
Codes T
A) a b c d (A) a b c d
1 2 3 o 1 2 3 4
B) a b c d B) a b c d
1 3 4 9 1 3 4 2
(C) a b c d (C) a b C d
(D) a b c d (D) a b C d
1 3 2 4 1 3 2 4
17. According to Census 2011, the 17. SFRUMT, 2011 % 3GER 9RA & H e
percentage of female literacy in %1 yfawd 3
India is (A) 6401
(A) 6401 (B) 6464
(B) 64-64 () 6546
‘46
(©) 65 (D) 6627
(D) 66:27
_ _ 18. foof w@ #& 5@ & umn SN e e
18. The type of iron ore found in T F TER 2
Singhbhoomi and Mandi district is
(A) magnetite (A) ;
(B) haematite (B) TwerREE
(C) limonite (C) Temitrge
(D) laterite (D) A
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19. Chanwar Dhal is located at 19. SN T@ A 2

(A) Bilaspur Plain (A) Toemag ¥em &
(B) Jashpur-Samari Pat region (B) SRIR-umdl e & i
(€)Hasdo-Mand Basin (C) Tad-wte IR &

(D) Mahanadi-Shivnath Doab D) R Sara it

20. The highest rainfall regions of
Chhattisgarh are 20. THETG T HAIH Uk & T

(A) Jashpur city, Dandkaranya and (A) SRIYX AR, TEHRUY 3R TFTE ARMA
Raigarh Basin .
(B) TS ISR, <aaret 3R Sendien
(B) Indrawati plateau, Dantewada 1
and Bailadila (C) ¥, nie IR Fwal &t U

(C) Ib, Mand and Hasdo Valley (D) 39w ¥ A HIK Tl
(D) None of the above

21. Ffafaa = gafea A

21. Match the following : gh—I geh—II
List—I List—II a. WREC 1. T HR
a. Barsur 1. Ganga Maiya Temple b. FIFHE 2. wien «fy
b. Keshkal 2. Khadia Dam c. FER 3. {EI-oTST qfeR
c. Balod 3. Mama-Bhanja Temple d. oo 4. t&;ﬁaﬁm-a
d. Lormi 4. Valley of Flower
Codes : e
A a b c d @a b c d
A 1 5 3 4 1 2
Ba b c d B au by cr, d
4 3 2 1 4 3 2 1
©a b c d ©a Db c d
3 1 4 2 3 1 dumm
DMa b ¢ d Ma b c d
2 1 4 3 2 1 4 3
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22. Sequence the following according to

22. HlogH S FEE % Tgar Fefafad

23.

the Preamble of the Constitution : w9 ¥ au .

I Equality I.  Oual

II. Justice . -
=

III. Fraternity
III. drged

IV. Liberty ;
IV. &dadn

(A) 1, I, II, IV
(B) I, I, IV, III
(C) I, Iv, I, II

(D) II, IV, 1, III

Supposing the Prime Minister is
a member of the Rajya Sabha and
the Rajya Sabha does not pass
a Government Bill, what will
happen?

I. Prime Minister will resign
II. Council of Ministers will resign
III. No one will resign

IV. President will summon for joint
session

(A) T and II
(B) II and III
(C) II and IV

(D) IV and I

23.

(A) I, 1, I, IV
(B) 11, 1, IV, 1II
(C) L, 1v, III, II

(D) II, IV, 1, III

M v fF wumsst TS o W T
e ¥ 3R T |1 TF wehE e
%! TTia & FA 7, @ T e

I SUEES @S § QW

1. wfufog ®meE S 3m

II. 1§ QWA T& &

V. Tgafd U 93 3TEd Ham

(A) 13RI

(B) 1 3R III

(C) III 3R IV

(D) IV 3 1
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24. Which of the following are not | 24. F=fafed & ¥ F=-H ugefa H |
the discretionary powers of the wifeRat wEt &7
President?
Ire;n.h o I deE ¥ ugEd @A %A@
. o appoint the Pr1¥ne' Minister to N CIC el ﬁ'ﬁ?ﬁ FE
the leader of majority party of -
the Lok Sabha I AP o e g e
II. To appoint members of the 1. sradhe fdwes = fuwiat af@
Council of Ministers A9 Y T
111. T(? return thF Government Bill V. s = % O
with suggestions ]
IV. To detain a bill V. |EE S A
V. To call sessions of the V1. faew amn &
Parliament VIL TR ¥ fvm & Rl S % fore
VI. To visit abroad QYT O S
VIL. T the Pri Minist
0 say 'the trme Wamster (A) I, 111, IV 3R VI
for such information regarding
government B) I, 1v, VvV 3R VII
(A) I, OI, IV and VII (C) 1,1,V 3R VI
I, IV
(B) IL, 1V, V and VII (D) 11, I1I, V 3R VI
(C) 1, 11, V and VI
(D) II, III, V and VI 25, TaEd U TSt il =gHan iR stfeekan
o g & vy ?
25. What is correct about the minimum * A 7w ¥

and maximum strength of the
Panchayati Raj Institutions?

I
1.
IIL
IV.
V.
VL
(A)
(B)
(©)
(D)

Gram Panchayat : 10-20
Gram Panchayat : 15-25
Janapad Panchayat : 10-25
Janapad Panchayat : 15-35
Zila Panchayat : 15-40

Zila Panchayat : 10-35

I, IIl and V

II, IV and VI

I, IIT and VI

II, IVand V

I.
II.
IIL
Iv.
V.
VI.
(A)
(B)
(€)
(D)

W Y99d : 10-20
W 9919d ¢ 15-25
SA9E 994 : 10-25
SUE U9 : 15-35
e vama ¢ 1540
e 9=m@ : 10-35
I, Il 3RV

I, IV 3R VI

I, III 3R VI

I, IV 3RV

8021/MB-BB/RCE-M/14-A
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26. What is correct about the meetings

of the Gram Sabha?

I. In every three months,
meeting should be held.

one

26.

o 91 ) de & favg § wdh ww R
1. W diF e § U 98 ) TRy

II. T Y=Ed & Ueis aM o S8 2nf)

27.

The—meeting  shall  be held
in each village of a Gram
Panchayat.

]
et

III. Only in the headquarter of the
Gram Panchayat meeting will
be held.

IV. Collector can preside over the
meeting.

V. The Janpad Panchayat can say
to call a meeting.

VI. In the absence of the Sarpanch
and the Deputy Sarpanch, the
seniormost Panch will preside
over the meeting.

(A) I, III and IV

(B) II, IV and VI

(C) I, Il and V

D) LIl and V

If a President of Zila Panchayat
is from General Category, Vice

President shall be elected from
which category?

(A) Scheduled Caste
(B) Scheduled Tribe
(C) Other Backward Class
(D) Any one of the above

27.

11 7™ Y=d % GEIed 3 8§ 98% arit)
IV. Fa 93 Y TLaLar o gar |

V. 9T 99Ed ¥5% N % Y %%
G 2|

VI. 9" IR Iveed fit sigufeify §
IRGAT G ASH I AT HOM|

(A) 1, III 3R IV
(B) II, IV 3R VI
(C) II, Il 3RV

(D) 1, I 3RV

Ife e v 1 Ed g G s
R, O ImeAy frm det ¥ g Smom?

(4) g i

(B) =Tggfd S
(€) 31 fuser =i
(D) U & & = w
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28. What is the GDP growth rate of | 28. =i 2017-18 % fig WRA % &hal W]

India for the year 2017-18? I Y gig AT 27
(A) 6:5% (A) 65%
(B) 66% (B) 6:6%
(C) 67% (C) 6:7%
(D) None of the above (D) @ﬂ?ﬁﬁﬁﬂﬁéﬂiﬁ
29. What GDP growth rate is estimated | 29. T 2018-19 % W Tl & wra & fer
by the CSO for India in first quarter Fg wifead a7 fhadt sfte o dio
of 2018-19? gfe T srgAiTa 77
A) 77% (A) 77T%
(B) 82% (B) 82%
C) 81% (C) 81%
(D) None of the above (D) @ﬁ?ﬁﬁﬁﬁ?ﬁﬁ
30. How much food grains production 30. wrRa # o 2017-18 ¥ forw @wrm= =
is estimated for 2017-18 in India? Iareq forae agrnﬁ?[ & T 37
(A) 285 million ton (A) 285 fafeE &
(B) 281 million ton (B) 281 fuferm &=
(C) 290 million ton (C) 290 faferm
(D) None of the above _ (D) 39T § @ SIS T
31. In how many categories is Industrial 31, ohwe U9 § hafe R TR
Reward given in Chhattisgarh State? Aforat 7 feam sman 87
(A) Three A) d=
(B) Four (B) 9R)
(C) Five (C) d=

(D) None of the above (D) 39k & @ S T

SPACE FOR ROUGH WORK / T %M % fIg S8
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32.

From which date, the Krishak
Jeevan Jyoti Yojana has been
implemented in Chhattisgarh State?

(A) 2nd October, 2009

32.

BHeg T § R iy ¥ ‘ewe Sfem
Sfd A @y ) R A7

(A) 2 R, 2009
(B) 17w, 2011

(B) 1st November, 2011

33.

" 34.

35.

(C) November, 2013
(D) 2nd October, 2010
Which major mineral of Chhattisgarh

has highest contribution in both
production and value in India?

(A) Coal

(B) Iron ore

(C) Tin

(D) Limestone

Which of the following is not

included in secondary sector of
the economy?

(A) Mining and quarry
(B) Manufacturing

(C) Electricity, and water

supply
(D) Construction

gas

Which is the second major crop of
food grains in Chhattisgarh State?

(A) Paddy
(B) Wheat
(C) Maize
(D) Chana

33.

34.

35.

(C) =R, 2013
(D) 2 ¥R, 2010

oYTg % foou wE whe 1 3ded
T SH § RA § T9Y 1% IeE *7

(A) rIeT
(B) g 3T
() f

(D) =T 9eeR

srdfeeen & fidios & § Frafifaa & @
Toret amfyer Tt fopam wmm 27

(A) G T G

(B) fafmfon

(C) forgd, Trw wd v emfd

(D) fmion

BUWG H WEE % Ad qEl Yq@
A HI-H 37

A) 9=

B) M

(C) Wl

(D) =
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__(B) 50000

38. Consider

36. How many tendu leaves are kept

in one standard bag in Chhattisgarh
State?

(A) 40000

(C) 60000
(D) 75000

37. With reference to hydrogen fuel,

consider the following statements :

I. Like CNG, it produces a lot of
heat and requires coolant.

II. Unlike other hydrocarbon, it

does not produce carbon dioxide.
It is a powerful stimulant

for accelerating combustion of
methane within the engine.

II1.

Correct statement(s) is/are
(A) I only

(B) I and II only

(C) II and III only

(D) I, II and III

the following nuclear

reactors :

I. Apasara

II. Cirus

III. Zerlina

IV. Purnima

Which nuclear reactor has been

completely shut down in January
2011?

(A) I only

(B) 1I only
(C) Tand II
(D) 1I only

36.

37.

38.

BTG T59 § & A a1 A fRal dg
uftrt Wl Sl €7

(A) 40000

(B) 50000

(D) 75000
TS o % wrery  Fafafea s
e i

I. CNG #it ®g I® W A6 H IO
Ieqe HE ¢ wE Yiiaeres d STavEeRd
Bt B

I. TR TEGHEA H T TS HEA
TRATHIZS I T8 Ha|

A T sufee fdm % < % @fa
F ¥ fo 98w yea e R
e U /3

(A) a1

(B) %ael 1 W@ II

(C) o II Td III

(D) 1, 11 @4 1II

frfaftaa g @9E ® faer fifT
I 3
II. 9PRd
1. et

V. gt

F-ar TR W g ' ¥ Sl
2011 # &< = feam o 37

(A) FaE 1
(B) aa II
(C) 1@ II
(D) e 111

III.
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39. One astronomical unit is average | 39. % @i 7% 3faa gl Bt &
distance between ]
(A) gt wd gd & "o

(A) earth and sun
(B) Y= T w51 % Aew

(B) earth and moon

(C) Jupiter and sun : (C) Feeid Ta g4 & wew i
(D) earth and Jupiter (D) gt v gewafa & wey

40. Which greenhouse gas other than | 40. F I & B¥T & Sew FF-wh haw

methane is being produced by T 3= Bt }7
agriculture fields?

(A) Nitrous oxide (&) %
(B) Ammonia (B) s
(C) Sulphur dioxide . (C) T TRATFTES
(D) Carbon monoxide (D) FTeH TS
41. Ozone hole is widest in ' 41. 3 fog &1 gaiive R R
(A) Equator (A) WW &7 7
(B) North pole B) 0 g3 &
(C) North temperate area ©) =0 P
(D) Antarctica
(D) FIrehieent &

42. Limit of BOD prescribed by the
Central Pollution Control - Board | 42, %=y yuu T € gr e e

for discharge of indl-lstrial and T Fem gy e e @@l BIEGERS
municipal waste water into natural o 5g[ % foft BOD Y ¥imr @

surface water is

(A) <3:0 ppm A) <30 ppm

(B) <10 ppm (B) <10 ppm

(C) <100 ppm (€) <100 ppm

(D) <30 ppm (D) <30 ppm

SPACE FOR ROUGH WORK / W %1 % fiq e
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43. Alaknanda cruise service is started | 43. 3T@%e g a1 FAfdiad # @ e TR
in which of the following cities? T SRy Y 7
(A) Varanasi (A) ST
(C) Lucknow (C) TE=
(D) Kanpur (D) FHR
o ved in which of the following | 44 T FR2% (BIMSTEC) Wi
gan = A FrefaRea & & g <z 7 gan an?
countries?
(A) Bangladesh (A) S
(B) Sri Lanka (B) *fierh
(C) Thailand (C) wmcivg
(D) Nepal (D) Ut
45. Which of the following is the rank | 45. 2018 % TRWTE Qe H wah Ao &
of India in medal tally of 2018 g &1 e Fefafea § @ Pa-ar g7
Asian Games? e .
(A) gr=Et
(A) Fifth ‘
(B) &3l
(B) Sixth _
(C) graat
(C) Seventh
D) 3Teaf
(D) Eighth (D)
46. Which is the best film of the 63ra | ¥6- 637 T ¥R R f e W

Film Fare Awards?
(A) Tumhari Sulu
(B) Jagga Jasoos
(C) Hindi Medium
(D) Bareilly Ki Barfi

HH-T 77

(&) grl g1
(B) S STgHE
(C) fo=dt fafeam
(D) @A # Tt

SPACE FOR ROUGH WORK / 1% &M & fi¢ w®
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47.

In 2018, Padma Shri awardee of
this State Shyam Lal Chaturvedi
is associated with which of the
following fields?

‘(A) Social service

47. 2018 ¥ 3@ T¥ & ugwefl q@aR A

TG e Agadl W gy
FfaRaa & & fra am @ 87

(A) THW Fa1

48,

49.

50.

(B) Literature and education

(C) Arts

(D} Trade and industry

What is the name of express

train which links this State with
Firozpur?

(A) Humsafar Express

(B) Sampark Kranti Express

(C) Antyodaya Express

(D) Samta Express

Who among . the following is a

member of the Rajya Sabha from
this State?

(A) Ram Vichar Netam

(B) Dayal Das Baghel

(C) Sant Ram Netam

(D) Shivshankar Painkra

Which city of this State is ranked

first in waste management in
Swachhata Survekshan?

(A) Raipur

(B) Bilaspur
(C) Ambikapur
(D) Jagdalpur

48.

490

50.

(B) ey wa faram

(C) e

(D) SR T I

™ TG H RER § Sed ot wweE
37 T AW = R7

(A) THER THEE

(B) TP Shifd T

(C) 3Fcley THadE

(D) wHAl GHASE

T 9 B 3 TSI T TST 91 % 4T &7
(A) 9 fo=R Sam

(B) TITA T FESA

(C) | e

(D) feraweR d=a

wodl T § 3 TS % e we

g gaef % YRR ¥g WU WM 9
ga 77

(A) TR

B) foramagt
(C) IR
(D) SRR

SPACE FOR ROUGH WORK / T &M % fou s
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(ii) MENTAL APTITUDE / gfg @, favemor g

51. Choose the odd one out from the 51. f=falea 4 @ fam = wg=f -
following :
e (A) ST
(A) Red
(B) den
(B) Yellow
C) rem
(C) Blue (©)
(D) Green (D) '
52. Choose the odd one out from the 52. fmfafaa § & fawm =1 ge=ni -
following : () = :
A) Bal G dhar Tilak
(A) angadhar Ti - —
(B) Vipin Chandra Pal
(C) el oS T
(C) Lala Lajpat Rai
D) MU mnEa
(D) Gopal Krishna Gokhle (D) ol
53. Choose the odd one out from the 53. fraforfad # @ fomm < vgai -
following : A) S
(A} Dongri B _—
B) Halbi
o (C) ohaTe
(C) Chhattisgarhi ==
D
(D) Gondi (D)
54. Find the number in the blank space 54. Frfafaa srifes ooft % fe v & fog

of the following number series :

6, 6, 30, ___, 132
(A) 30 (B) 40
(C) 56 (D) 42

TG F1a IR -

6, 6, 30, ___, 132
(A) 30 (B) 40
(C) 56 (D) 42

SPACE FOR ROUGH WORK / % %M & fog smg
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55. Find the number in the blank space
of the following number series :

55. fFmfaiad stifds Sof ¥ s o ¥ forg
& J1a Hif

0,1,1,2,4,7,13, __ , 44

(A 19— By 24—

0,1,1,2, 4,7, 13, ___, 44
A) 19 (B) 24
(C) 27 (D) 33

56. Find the number in the balnk space
of the following number series :

2,3,4,4,6,8,6,9, 8,12, 16
(A) 9 (B) 10
©) 12 (D) 13

57. The next letter in the series
A B DHUZPTF
is

(A) P (B) Q

(C) M (D) L

58. The next letter in the series
A YDV FTM
is

(A) M (B) U

(C) V (D) W

(C) 27 (D) 33

56. FmfvRaa s1ifds ot & R =@ ¥ R
T 19 hIfT

2,3,4,4,6,8,6,9, __ 8, 12, 16
A) 9 (B) 10
(C) 12 (D) 13
57. Iof}
ABDHTPTF
T 3Ter HaR ?
(A) P B) Q
) M (D) L
58. Ift
AYDVFTM
T TS TR R
(A) M B) U
(C) V (D) W

SPACE FOR ROUGH WORK / % &1 % R e
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59. The next letter in the series

59. oft

B D G K B D G K
is T ST R ¥
A) O (B) P (A) O (B) P
© Q (B) R © Q (D) R
60. In the given figure below put the Brsey
correct alternative to replace the 60. M4 T ;Q_a_ﬁfa: il R W st
question mark (?) s T (7) 1 Sftenioa 2 -
A) 8 (B) J A) 8 (B) J
(C) 24 (D) H (©) 24 D) H
61. Which will be the next figure? 61. T R F-a 2
+ HE o0 7 4 BH 9o 4
o)
) ?
v, 9|9 N 4 9|9 NA. 4
* > 9 | N 4 N9
(A) (B) (A) ' (B)
I 20 E o [
N9 9 U S o 7
© ) © )
4. & 9 4 = 9
SPACE FOR ROUGH WORK / T &M % g e
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62. Which will be the next figure?

AB C?

62. 37T fo HH-a1 Bm?

v

63.

64.

If ‘ELECTION’ is coded as

‘FKFBUHPM’, then ‘FESTIVAL’ will
be coded as

(A) GDTUHUBK

 (B) GDTSJUBK

(C) EFRUHWZM
(D) GFTSJUZK

From the following coding system
write the code for ‘GHATR’ :

Word Code
HANG 2354
GATU 7526
THRM 8417
RATS 1279

(A) 54271
(B) 35147
(C) 43982
(D) 67913

63.

64.

() D (B)
(©) D o {62

I ‘ELECTION’ W Fesg T o 2
‘FKFBUHPM’ ¥, 499 FESTIVAL’ &

Tore® Feag e srem?
(A) GDTUHUBK
(B) GDTSJUBK
(C) EFRUHWZM
(D) GFTSJUZK

ffafes $e wefa @ ‘GHATR’ ¥ R
e fafen -

s T2
HANG 2354
GATU 7526
THRM 8417
RATS 1279

(A) 54271

(B) 35147

(C) 43982

(D) 67913

8021/MB-BB/RCE-M/14-A
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65. 3

‘AGRICULTURE’ &l %94
fmm wn @ ERUTCULIRGA’ ¥, @@
‘HANDCURCHIF’ %! e geag T
San?

65. If ‘AGRICULTURE’ is coded
as ‘ERUTCULIRGA’, then
‘HANDCURCHIF’ will be coded as
(A) CHIFCURHAND
(B) DNAHCURFIHC
(C) FICHRUCDNAH
(D) FIHCCURDNAH

66. Ais ason of B, Cis the only son of D

67.

and D is the grandfather of A, then
which of the following is not true?

(A) B is husband of C

(B) C is husband of B

(C) Ais son of B and C

(D) D is father-in-law of B

In a code language ‘SOLID’ is written
as ‘WPSLPIMFHA’, then coded vword
‘ATEXXQIBVO’ represents the word
(A) WATER

(B) EAGER

(C) WAFER

(D) None of the above

66.

67.

(A) CHIFCURHAND
(B) DNAHCURFIHC
(C) FICHRUCDNAH
(D) FIHCCURDNAH
A ? B, D& ghaal 9 C ®

A ¥ qEst D %, 99 fefRes & @
-9 GF AE Y -

(A) B, C #19fd ?

(B) C, B® Ufd ?

(C) A, BANCH TR

(D) D, B % ¥ ?

et ® ww # SOLID’ W
‘WPSLPIMFHA’ % ¥4 # fo@n sm,

%2 e ‘ATEXXQIBVO’ frel fafde e
37

(A) WATER
(B) EAGER

(C) WAFER
(D) 3w & ¥ I TE

8021/MB-BB/RCE-M/14-A
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Direction (68 and 69) : Read the following
information carefully to answer the given
questions.

A posse of four policemen A, B, C and D is

combining a circular park -dwided—ima——%ﬁ,’ 0,

sixteen plots. P, Q, R and K are the
offenders whom they have to catch after
given moves. The figure below shows their
position. The bye lanes are north-south
and east-west :

=l e

/4l B | c
/ N

BN
el )
\ /
{7 [0

If A, B, C and D move clockwise four
plots and P, Q, R and K move
anticlockwise six plots, then who
two would be north and south

(A) Pand A
(B) Q and B
(C}) Rand D
(D) Pand C
If both A, B, C, Dand P, Q, Rand K
move clockwise three plots, then

who would be positioned north-east
and south-west

(A) A and P
(B) C and P
(C) D and Q
(D) B and R

EBE

68.

69.

Fdw : (68 3R 69) : w0 & W guw w
SMYES Ifey T§ RT M e % W Afm

<R gl A, B, C W@ D il Th I Th
MR TEA, 58 dieg vl & &t wn R, & e

R T K 390HT ¢ Toe Jrorashd! mmemt
T | TS| R & snwfy R feufa ewld
31 |l it sw-efam v gd-ufem & €

K??m
[ 1w] "
WE

T[T

68. AR A, B, C 3R D =t & fewm K 3
IR I 9dd § 3R P, O, R 3R K ud
RRMF las: e &, AW A
A 8 3| IR 2for & gm?

(A) P3R A

B) Q3 B

(C) RIR D

(D) PR C

qe A, B, C, DWW P, Q, R, K ©dl
@ 9w it fewm § wea 2, @ feaeh
feurfa sm-qd ofr sfémor-ufeem gnfi?

(A) AR P

(B) C 3R P

(C) D3R Q

(D) B 3R R

69.

SPACE FOR ROUGH WORK / T &1 & foq s
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70. How many triangles are there in the | 70. fi=ifa fo & fore Byt 27
following figure?

/
(B) 19 (B) 19
(C) 29 (©) 29
(D) None of the above (D) i 5 @'&‘ &

71. How r.nany triangles are there in the 71. Bt B § Rra ﬁ,\i@[ 7
following figure?

AN
N4

(A) 10 (4) 10
(B) 14 (B) 14
(C) 20 (C) 20
(D) None of the above (D) 39 § § *1§ &

SPACE FOR ROUGH WORK / % %M & Tt 97g
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72. A minimum of how many colours

72. U fm % faftm wmi @ T @ &

required to paint all the portions so RTT FH-§-0 Toraq T <Y rrervaesar it
that no two adjoining portions in the ats Rt oft ©F grg-a78 F e N TE @
given figure may have the same Fa
colour? ' .
(A) dH
(A) Three
B
(B) Nine (B) ®
(C) Four (C) =R
(D) None of the abvoe (D) 39gh H | hIS TG
73. If the .area of a squefmrehABfCD i§ a, 73. 4R 1 ABCD %1 9% o 2, @ feifea
Whe'lt 1§ the area of the ollowing ‘éFﬁ'f R 57 S T AT
entire figure?
B
A B A
D
D—¢ c
2
(A) 134> (A) 13a
2
(B) 11a2 (B) 1la
(C) 13a (C) 13a
(D) 1la (D) lla

8021/MB-BB/RCE-M/14-A
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74. A, B, C, D, E, F and G are seven
person standing in the same order,
and every one wearing cap of
different colours such as violet,
purple, blue, green, yellow, orange

and red. D can see green and blue
in front of him but not violet. E can
see violet and yellow but not red. G
can see all the colours except
orange. If E is wearing purple cap,
then the colour of the cap of F is

(A) blue
(B) violet
(C) red
(D) None of the above
75. Out of 120 Musicians of a club, 5%
: play guitar, violin and flute all three.
Out of these the Musicians who can
play two and only two instruments
are 30. Musicians who play only
Guitar are 40. Find the number of

musicians who can play only violin
or only flute?

(A) 45
(B) 44
(C) 38

(D) None of the above

74. A, B, C, D, E, F 3R G 9 =5f & St
T w9 uf § @S F, Tow B @l
At wg gu &, S Sl s, e, =8,
dieft, Tf 3R Al D 3R gEA g 3R

- R B

IR ficft T@ ot } W ome T8 G A
H B afi T K AT @ wwar B
IRETGR W RN AN 1 }, @ F R
i = T A7

(A) e
(B) s
(C) @&
(D) 395 § ¥ =iE T

75. T% F@ % FA 120 @i # 4§ 5%
firer, amfem ik aigh &1 asm wed €1
T Y T 3R P QA A S HhA ATl
wiast it T&w 30 T S Ay wad
fier = wd € 9 40 ¥ W@ dffagi B

Fl T TARY S had AT a1 Gohd
2 Fad SIga T Wehd &

(A) 45
(B) 44
(C) 38

(D) 39 # | g L

SPACE FOR ROUGH WORK / T &M & TIq SF1g
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76. If signs 4+’ and “~’ and numbers ‘4’ 76. AR fag + 3 <« a 3F 4’ IR ‘8"
and ‘8’ are interchanged-them which Ied-d9ea e W, o fF=afefaa a9
of the following is right? -7 g ®7

(A) 4-8+12=0 A) 4-8+12=0

(B 8¥4-15=26
(C) 8-4+12=8

(B) 8+4-15=26
(C) 8-4+12=8
(D) 39w ¥ ¥ Fg T

(D) None of the above

77. If the angles of a triangle are in the
ratio of 4 : 3 : 2, then triangle willbe | 77. IR frh figst % F01 4 : 3 : 2 % IPAW

(A) obtuse-angled 4 €, B
(B) having an angle greater (A) R g
than 80 (B) T T 80° ¥ A el TN
(C) right-angled
(C) aHehIvfR B
(D) acute-angled |
(D) <o gem

78. The following figure is folded to form :
a box. Which of the following box is 78. Fifed B 1 Aiew TE Sl SHE

right? ) Frenifea § ¥ SF-u S 1 2?
/\ N
« ] » ol P

v, v
®) @ (A) @ B)

© | &) o | © | @& o)

SPACE FOR ROUGH WORK / T %M &% forg @
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Direction (79 and 80) : Read the following | 3w (79 it 80) : = &t ¢ wam # Ty
information carefully and answer the given | gfer wd feu 7w ywi & W €y .
ti . .
questions & 3u v, R TE e 10 Yo Ho ¥, W
A solid cube of each side 10 cm has been e, fia @R A Tif A ATHA-THT F BAR B
— paﬁﬁed—fed,—bjfue—and—b’rack—en pairs of WW%IWﬁmgﬁQﬁoﬁowmﬁWﬂ
opposite faces. It is then cut into cubical F12T T
blocks of each side 2 cm.
e T T ?
79. How many cubes have no face e o R oA o 7 T R
painted?
(A) 9
(A) 9
(B) 27
(B) 27
(C) 18
(C) 18
(D) S A @ Hg
(D) None of the above
80. Than =l % fF wore fafim @ @ @ g
80. How many cubes have three faces £9
painted with different colours?
A) 8
®) 12 (B) 12
C) 16 (C) 16
(D) None of the above (D) ST # @ HIE TE

SPACE FOR ROUGH WORK / % %™ & @ g
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(iii) MATHEMATICS / 7o

81. Distance between two points A and

————~eeovered-at- the rate-of 60-km7/hr-and

82.

B is 420 km. Half of the distance is

the other half at the rate of
80 km/hr. Calculate the total time
taken for the journey.

(A) 6 hours
(B) 6 hours 7'5 minutes
(C) 6 hours 8 minutes

(D) 6 hours 30 minutes

Mohan sells his Laptop to Ramu at a
loss of 20% who subsequently sells
it to Raju at a profit of 25%. Raju,
after finding some defect in the
laptop, returns it to Ramu but could
recover only ¥ 4-50 for every ¥5:0 he
had paid. Find the amount of Raju’s
loss, if Mohan had paid ¥1:75 lakh
for the laptop.

(A) ¥3,500
(B) ¥2,500
(C) ¥17,500

(D) None of the above

81.

82.

3 fagett A 3R B & o= 1 3@t 420 km
R ameht gt 60 km/hr &I TRR ¥ 7 H

——— e Ay et 8o km/hr AT R

w0 W T P T H AT AT
(A) 6 w2

(B) 6 ¥l 7-5 e

(C) 6 w1 8 fme

(D) 6 w1 30 fe

A W AU T A 20% T |
ST € S QA 39 A9eld W 25% W W
TS, W 99 3 B 39 ARG H FD T
T S R I, A q9E T B Tdh
£50 % folg 450 H | § FUE K @
2 IR Higd I A € 1-75 9@ § wlE
off, A TS % THAH hl TR 3

(A) ¥3,500
(B) ¥2,500
(C) ¥17,500

(D) 394 § q FK T

8021/MB-BB/RCE-M/14-A
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83. Two cyclists cycled towards each

other, one from point A and the
other from point B. The first cyclist
left from point A, 6 hours later than
the second left from point B, and it

84.

85.

turned out on their meeting that he
had travelled 12 km less than the
second cyclist. After their meeting
they kept cycling with the same
speed, and the first cyclist arrived at
B, 8 hours later and the second
arrived at A, 9 hours later. The
speed of the faster cyclist is

(A) 4 kim/hr
(B) 6 km/hr
(C) 9 kmm/hr
(D) 2 km/hr
A and B together can complete a
piece of work in 4 days. If A alone
can complete the same work in

12 days, in how many days can B
alone complete that work?

(A) 6 (B) 8

C) 12 D) 15

The value of (64)%/3 x(216)72/3 is

13 13
(A) — B) —¢
144 145
13 13
C) — D) —=
414 444

83. 9 WA WER TH-gW N R wEhed

. AR EH G e AR T e waEsE

84.

85.

T gL A, Th g A ¥ 91 gy
forg B V| Tzen aRfha waR, qW AEehA
FEaR % fog B @ 9@ & 6 @0 91 fog

BT ® T ugen Gsfha aR TR AERea
AR ¥ 12 frotiio 0 =@ B 376 e
¥ var 3 o Fuife R @ e §
T Yl HEfhe WA forg B W 8 wwe

T UEE A qua fag A w9 Hee
U IgEAl R a9 WEfha wER
THER 3

(A) 4 km/hr
(B) 6 km/hr
(C) 9 km/hr
(D) 2 km/hr

A 3 B foreh &1 =t 4 &+t # qu w21
I A el W FHE R 12 A A W@
Far R, @ B 39 w@ H Thanl fohaq Tl

H qU Hm?
(A) 6 (B) 8

©) 12 (D) 15

64723 x216)%/3 T AR 3

13 13
(A) — B) —
144 145
13 13
C) —= D) —=
414 444

8021/MB-BB/RCE-M/14-A
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86. If the cost price of 10 scooters is 86. ;R 10 W H F4 I 8 TGX & fagd
equal to the sales price of 8 scooters, L3 & T R, A 9 H yfawa ?
then the percentage of profit is
(A) 15% (B) 20%
(A) 15% (B) 20% '
e (C) 25% (D) 30%
€y 25% (DT 30%
5 4
5 _4 87. AR Q)3 x(4) 5 =2% &, A x H WA
87. If 8)3 x(4) 5> =2%, then the value B x4 ’ wm
of x is (A) 3—2—
o 5
) 3% 3
B) 22
3 5
B 25 2
€ 53
2 3
(C) 5=
3 (D) 39w & ¥ HE T
(D) None of the above 88. x3/%xx3/4 = o
88, x3/txx3/4 =97 (A) 2x3/4 (B) x9/16
(A) 2x3/4 (B) x9/16 (C) x6/8 (D) x3/2
(C) x6/8 (D) x3/2
89. Th e 12 ¥Hve UH " w1 Fram
89. What rate percent is one minute yfawa 27
12 seconds to an hour? A) 2% B) 3%
(A) 2% (B) 3%
(C) 4% (D) 5%
(C) 4% (D) 5%
90. 5 Mt MR 4 el A FHwa ah @ R
90. 5 mangoes and 4 oranges cost as

much as 3 mangos and 7 oranges.
The ratio of the cost of one mango to
that of one orange is

(A) 4:3 B) 1:3
€ 3:2 (D) 5:2

Nt 76 3 ol it 7 @ B R
AW I FHd H TF GR H Fma A

AT B
A) 4:3 B) 1:3
C) 3:2 (D) 5:2

8021/MB-BB/RCE-M/14-A
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91. A sum of money at compound | 91. Tk W whglg SO | 5 T A & A
interest doubled itself in 5 years. It St B 39 WEE B IS T EH | foRe
will amount to eight times itself in q99 T
(A) 15 years (A) 15 U
(B) 20 years (B) 20 €A
(C) 12 years (C) 12 &=

92. Agives ¥ 50 to B, B gives half of it to 92. A, B € 50 <1 ®, B GH €T C H
C, C gives one fifth of it to D, then T S

’ , C 35 qtgat fe=m D # e g,

the amount (in ¥ ) received by D is _— j?{l’ﬂ‘}ﬂﬁ ofr (7 ) 2 ¥
(A) 1 (B) 2 @A 1 B) 2
© 5 (D) -0 ©) 5 D) 0

93. If head of an institution is computer | 93, IR Hi§ T WE FIYXR ¥ 3G 3, A

expert, the institution needs 3 clerks
less when it appoints a computer
untrained  head. Salaries of
computer trained head, computer
untrained head and clerks are
respectively & 1-50 lakh, & 1-00 lakh
and @ 30,000. Find annual loss
to the institution, if computer
untrained head is appointed.

(A) ¥ 40,000
(B) ¥ 50,000
(C) ¥ 20,000
(D) € 90,000

3G GE1 H 3 HH Tl i AEawRd
At ® v 9w wfifyE ween ww
fge w@n wm ARl T,
FroR AuiifE ygE w e % ad
e € 150 @@, € 100 9@ W
£ 30,000 81 39 g H aiffs af 3@
Hife, IR T8 T R swiifE TgE
g e R
(A) ¥ 40,000
(B) ¥ 50,000
(C) ¥ 20,000

(D) ¥ 90,000

8021/MB-BB/RCE-M/14-A
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94. One-day earnings

in Jagdalpur,
Bilaspur, Ambikapur and Raipur are
respectively ¥ 1,000, ¥ 800, ¥ 600
and € 1,200 respectively. If a man
expenses % of his earning, then find

94, wRAYR, foamg, e aon R §

T &7 ft 3 wAw: € 1,000, € 800,
600 T ¥ 1,200 ¥ I w e
HOA I H 2 W G HAT 2, qd IR

95.

his saving if he works 1 day in
Raipur, 2 days in Ambikapur, 1 day
in Bilaspur and 1 day in Jagdalpur.

(A) ¥ 2,800
(B) ¥ 1,400
(C) ¥ 4,200

(D) ¥ 2,400

A government pays ¥ 1 lakh per
month to a well-trained teacher who
trains 100 students. A beaurocrat
suggests the government to appoint
an untrained teacher because only
¥ 20,000 needed per month to pay
them. A survey shown that a
student trained by untrained
teacher made a loss of ¥ 1,000 per
month per student. Estimate the
profit/loss in two years after
implementation of such suggestion.

(A) ¥ 4-80 lakh loss
(B) ¥ 4-80 lakh profit
(C) ¥ 19-20 lakh loss

(D) ¥ 24-00 lakh profit

95.

AfemrR 7 2 T, foemagR & 1 &7 qon
SPeeq # 1 T % e R

(A) ¥ 2,800
(B) ¥ 1,400
(C) ¥ 4,200

(D) ¥ 2,400

TEHR Th PR gRIfeE g, s 100
BET I UG W R, B € 1 o uia
e <dft Bl T NHEE WER W TH
st fige it fghe =1 6t aome
a1 ? Hifh ¥ Faa € 20,000 T HE
TN UM TR wEew ¥ urEm T fR
it e g i ool & % |
€ 1,000 9ftt 118 Wid B H JHEH ol
W AR % TR W @ g ¥
A/ T A TR

(A) € 4-80 W@ wIH
(B) ¥ 4-80 @@ @
(C) ¥ 19-20 @@ ¥

(D) ¥ 24-00 @@ @™
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96.

If an employee gets € 30,000 per
month salary and 1000 employees
are on strike for 20 days, then total
loss to the government due to strike
is

96. IR T FHAM F 949 & 30,000 Ui AE

? @1 1000 FHIR 20 i % fore ggam
W R, 79 TEAA & HROT WHR H g3

THUE B

97.

(A) ¥ 20 lakh
(B) ¥ 20 crore
(C) ¥ 2 crore

(D) ¥ 1 crore

A beggar rehabilitation camp
estimates that per beggar per day
expenditure is ¥ 50 while expendi-
ture on crime prevention due to all
beggers is ¥ 15 lakh per month.
There are 1000 beggars. If the state
decides to open the beggar
rehabilitation camp, then estimate
the extra burden per month at the
government.

(A) ¥ 000 lakh
(B) € 1-50 lakh
(C) ¥ 2-00 lakh

(D) € 5:00 lakh

97.

(A) T 20 @@
(B) T 20 Fe
(C) T2
(D) ¥ 1 s
s firard e 9 w1 oA ® T i
et v 7 =& €50 %, el =
frgrial % FROT 9 A A B A
W & 15 @ vfd A71g @9 81 1000 Frad
%) 7R 9% v~u P a0 gen

=1 Fiofa At R, 99 38 WER W TS A
srfafs g 1 ST HiRTg |

(A) € 0-00 9@
(B) € 1-50 9@
(C) € 2:00 W@

(D) € 5-00 1@
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98. Citywise earning and expenditure

are as follows :

98, IIEER 3 U§ = faraq €

99.

100.

(¥ #)
(in©) T =g
Eaming  Expenditure
Bilaspur 10,000 6,000 EF'W 10,000 6,000
Durg 10,000 8,000 i —10;000 8,000
Dhamtari 8,000 3,000 Tl 8,000 3,000
Ramanujganj 8,000 1,000 THTFSATS 8,000 1,000

For maximum saving which place is
the best one?

(A) Bilaspur

(B) Durg

(C) Dhamtari

(D) Ramanujganj

Ahas ¥ 1,000. A gives half of it to B,
B gives half of the amount
received to C, C gives half of his

amount to D and D gives half of his
amount to E, then E gets

(A) ¥ 250 B) ¥ 125
(C) ¥ 6250 (D) ¥ 625

A clerk gets ¥ 10,000 per month as
bribe and ¥ 30,000 per month as
salary. His monthly general
expenditure is ¥ 25,000 and annual
medical expenditure is ¥ 1 lakh.
What is his annual savings?

(A) ¥ 60,000

(B) ¥ 70,000

(C) ¥ 15,000

(D) ¥ 80,000

99.

100.

FfF T9q & T oEd Iuge wWH
FA-ATE?

(A) feremag

B) g

(C) wwall

(D) THTFSHIST

AT U & 1,000 B A THH T B H
a1 ®, B WH TR 1 41 C W I R,
C 391 TR 1 e D B <d1 & 991 D
319t TRT T M E R AT R, 99 E TH
T

(A) ¥ 250
(C) ¥ 62:50

B) ¥ 125
(D) € 625

% fafs fzaa @ € 10,000 991 964 4

¥ 30,000 ¥fd #E WH HAT B IHH
e = @9 € 25,000 9T 9T
Tafchedt @ € 1 A@ 2| 3R Tifis T=a
1 27

(A) ¥ 60,000

(B) € 70,000

(C) ¥ 15,000

(D) ¥ 80,000
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PART—B / 9T—B

HINDI / &=
101. frfafea @l § 3 ae= =R 105. fnt fore =t @ wafta 87
(a) = (A) <
(B) 3 (B) H3=
(C) 3 (C) sirsw
(D) T (D) aTg
102. <= Rt = w1 99 Id@ =5F % @ | 106, FefiRea wedl # @ Efifem wwow’
e 2, A TR T 7 BT 37
(A) HIH S () <
(B) & o (B) 3§
(C) & (C) hgam
(D) ¥ (D) weft
103. Frefafag sisel 3 oy, S T we™ | 107, gig-ehfem @ e Siet wie-a1 3w 87
8 (A) EATeT-TeTE
S (B) TF-FH
(B) < (C) aa-afm
S (D) g
(D) &
108. ThaeH-Sgaeq & Tad SIgl HH-| A
104. Frafefad § ¥ @Y W F=-91 87 27
(a) = (A) -
(B) T (B) Ffon-gfeat
(C) (C) T-T=g
(D) 37 &t (D) THi-Tfaf

SPACE FOR ROUGH WORK / T %M % [T e
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109. Frfafed sl § & @ wfysm e | 118, ‘w9 ww d wen’ (R w6
eI TR T = BT S T AT BT 87
(A) 3 =M FT 77T FST HIR B (A) T
(B) &1 ¥ formept 27 (B) forcaria
(C) 3R MU Tt AL | (C) waifeaq
(D) 2% & @& ot (D) o &
110. ‘SR 9@ o go, @ F0 AM A F | 114, Feiien e § v Sen-Riv e

111.

112.

FH-91 e 87

(A) AT FAHH B
(B) wfey adam@ Fre
(C) VIS TAAM T
(D) 3ugh & | HE 7

Frafafaa w=et & @ s9-w frar-vse @
ffifa sraeTees d e 27

(A) T
(B) sgoH

(C) &t

(D) TR

T 7 g Y urefl @' —zw e A R
ar ‘et T o Y

(A) Thor Fd qer geT e

(B) 37qel wepHer fomam aen gl wenlen foram
(C) TS wd am Aot faran

(D) 3wt weft

1185.

116.

A ‘v fr-femer’ @y fee T
H goT &7

(A) g9 B8 wEg Teer WA

(B) T ot gk vt et #1
(C) 367 T s & Tk B
(D) qw T e

e T5E H HH-|1 TATE }7
(A) it

(B) &3

(C) HHURT

(D) =gshfe

Frfafea amfies st & @ ‘srfrmor
TEqEY’ T T HIT

(A) L

(B) wHT

(C) &

(D) FHTERH
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117. amifs e foda wiorg @ ¥ | 121 G e e @
frg e % 3iaria 87
@A) 5,3 ¢
(A), FoReoTeR % ®) 3, 3, o
[B]'_%TW_ (C) 31’ 3'""3
(C) fodrovia w2 D) F, 3, =
D) ffsagd oe
" 122, WA B R R W B
118. Pl Wt § @ BA-w w1 &
(A) feamerh (B) o
(B) aAHIEA (C) =W
(C) g™ (D) df=
(D) e 123. 37 sEeH A
119. f&=h § o =l i we et 27 (A) T d i @ Frekad &
(A) &= (B) ®a He Tfd | frererdt B
(B) =W (C) T T STl &
€ (D) s @t
(D) 9 124. Frdt sft s § ad h wweva fRR A
st B
120. 2T STCTNTT SFSH oul T T HINT : -
(A) et i gawa & fig
A= B) wEE R w@ G ¥ R D
(B) & fa
(C) & (C) =t % fig warg & forg
(D) = (D) et 6 THEdr & g
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125. o7 @ga & 130.%@@%@%@3&%
) T = %qmﬁgan%:? '
(B) vHh = (A) e W R fal w §)
(C) ==t % 1ef =i (B) mwﬁmﬁml
DECEE b (C) 3T, 79T et 27
126. o=t @ o= % fpa wbr €7 (B) vz '
131, fr=faRaa 4 4 F-w1 T mw R®e
B = (B) ¥ 7 @
(©) = (B) ¥ 7 &, B o sy
(D) =w (C) BR uga 2|
127. “didl v @ it —z8 g # adim w1 (D) o8 T w2
2’)3“;"? 132. =g 1 o & wrg Fred s A B 37
: i (A) w
(B) wfee d|m B 2
(C) TxT=g FaAM (©) @
(D) 9T SAHH D)
128, ‘forreff e @ frpdt ¥ —® o & 133. g = ol 3
for w1 1 3eTETw }7 .
(A) 489
INEEIGER B) frem
(B) W= g (C) =men
(C) T @ (D) RIS
) g 134. et # T 1 oo P #
129. 1 & ¥4 § uRadH g & forees amum w gen 7
(A) Toiwo, Gftr % o (A) wifA saTERRYT
(B) €Y, THTE % HROT (B) STIYUIT TH
(C) e, TEM & HRUT (C) dEHa =TT
(D) T, oM, vt % o (D) 3w wsft
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135. %% Gu@ & fohaq 9 7 140. =R el ¥ wga o @ iR ER # %, T,
&) =" T, %Y HE T g, a
(B) (A) forent 1 e & s @
()= _ (B) forert w1 ‘=’ & ufad= & S @
(D) df= (€) Fret <t =t =it T @
136. -3 F-°1 T 27 | (D) 3w a+ft
(A) 3T 141, 5 I 3B ¥ B-w wes T 27
(B) TalcH 5 | SFEH
(C) wHIER 55 (A) SRR
(D) sfe sgeffe (B) =@
137, ‘Wi w1 v @fu-fede g (C) =HaTETRE
(A) & + (D) =T
(B) @ + BN .
g 142. ﬁmﬁfﬁaﬁﬁﬁw’aﬁmwﬁm:
— TIRM & o=l 1 g 5 W R
o’ ) P o (A) T
138. :?ZT[W : ) T
(B) @ + 3H (©) =l
©) @ + (D) B
(D) U + & 143. P=fafas & & frd weg A adt w27
139. @R oft ¥ ey 92 B §7 e
(A) =R (A) TR
(B) df= (B) 3FEIE
() o (C) ¥ryfea
D) & (D) e

SPACE FOR ROUGH WORK / T %R % fg g
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144. f=fafed 4 @ ot o e v gfe: | 148, Refofan o 9 g wos Rl
Isael e o Ut et
(A) Fvad (A) R F TR s
(B] =4 (B) ©TS % i &1 Fenan |
(©) s (©) R # TR fremai
(D) Isue
(D) = 7 urt faemait
145, ‘9o @ Hifem w9
149. ‘R e W & ffefaa § @ fem
(A) iEh TR Y Fae 27
(B) aifde
(A) wTFETEF
(C) urferm
(D) TeH (B) W
(C) Shfears
146. ‘fiar’ wree 1 AT § TgAH W9 R
. (D) =frar=®
(A) Hiargar
(B) firaréat 150. fT=fifaga g § wdam @1 @d wam
“ Q aﬁa?n”% FERIRRGE I )
. B 3 :
(D) ﬁ:BS?I{T 21 5
147. Frafafan o § we-gedt yEfem (A) Hrear 2 T 7 39 gFen 8 @A % a9
#Hifre : Tdt

I8 GHT GR 1
(A) SO @ET @ 2
(B) & @1 @M
(C) 367 @1 &g 21
(D) 9% I @M @ R

(B) @ § 6 & 3@ ghen d wa & 9
T £

(C) dr=ar ® f5 # 3@ ghan & @ 9w
= )

(D) 3w & & 1§ 7
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151. fr=fafaa & @ wF-a1 ez famwor 37 | 155. fmfafaa # ¥ agsif T @ vy

(A) R (A) et
(B) wy (B) wRIER
(C) fererar (C) gy
(D) §R (D) THIES
152. Prafofas § @ ‘gRemn’ fFn = weR | 156, o’ wee @ wuE-fame B
ES (A) et 2 R
(A) HEg & (B) Heht & <0t =
(B) T (C) T & e T
(©) i (D) T e ®
(D) EwIfYeR
157. ‘@Eiea’ v Fmfataa § @ few d@fn =
153. ‘=g’ § FH-91 THE 37 THR 87
(A) TEIES T (A) TorEf
(B) wgsfife wm (B) Ffa af
(C) &1y wn (C) 3o |l
(D) =TI GHI (D) defer iy
154. ‘gedie’ TRe R aeqEY WM % @ | 158, @r@ W= Fefofed # @ fw wfn @
27 ‘ TR 37
(A) T TG (&) s =
(B) H Tegem (B) T Efa
(C) HRH deged (C) @ wfy
(D) FY qCge (D) <R |y
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159. ‘agde’ = dhr-fred g 163. ‘meredt fagm Afem ot e w1 g w9 @

(A) TG + T (A) weTedt ufgen forgr ot

(B) agum + 3 (B) weradt faget mfgen of

(C) Igur: + 3= (C) fogs nften fagm o)

(D) Jge + g4 (D) 3w o A H§ T
160. ‘s’ ¥1ez 1 Gfr-foreda g 164. frffa & wdt wea i«

(A) g + Tfa (A) gt

(B) 319 + iy B) Frm

(C) 3oy + Tifq (©)

(D) 1 + i (D) S & & %S 7
161. ‘gl 1 gE ¥R 165. TEH Y Fed §

(A) T () e T

(B) T @ Hw= R

© W. ©) fcd

(b e 33 18 (D) 3ugts & & S T
162. 9 T3 GURETE MW §UI AT W Y ®9

3 166. frforiaa 4 & qaaa weg =9 HIR :

(A) 9TH ET € T gEm | (A) =

(B) ¥ T9¥ UW FC| YA (B) ==

(C) T4 & YW §Y ¥=aTg | (C) =g

(D) 3T # & HIE T (D) 3T # & i
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167.

168.

169.

170.

frefofad & & Y wee W W AR ;| 171, ‘R H el &

(A) Sewerm (A) 3T

(B) T (B) 3=

(C) YemTrEl (C) ™

(D) Iueh & & g T (D) St & & =g 7

S & & R wee wr-an 27 172. wedft, foreft, fooeft avige & fom us e
(A) - ?A) -

(B) = (B) @&t

(©) fower (C) ==

(D) g & & i (D) S # A HE T

T e @ 173. awh, s, R % fore o = ®
(A) HIH (A) TN

(B) T (B) SHTaSHH

(C) & (C) =t

(D) 3R & | A T (D) 3w & & S T

‘Frefe’ = foeim R 174. @, A, A, F % ¢ T 7= B
(A) I (A) %

(B) wf® (B) I

() orgee (© T

(D) 37t # @ S T (D) 3ugw & | S T
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175. ‘“aifd wlen ger i oref ¥ 179. ‘HAvem e’ @ o 2
(A) UL HET (A) Tohel AT
(B) A hisH (B) W R AT
(C) wga aifts 3@ (C) S ST |
(D) 3w & & #iE 7 (D) 374 § A if T
176. ‘e a1 o7k @ 180. ‘0 wrE B w1 e B
(A) ftrs e (A) g8 B
(B) <9 &
(B) wga aferk Fergr
(C) & &
(C) 9gag X ATd AT
(D) Sug & @ 91§ T
(D) 3w & & S 7

181. s, Wam IR ¥ W % FFU WER &

177. ‘dt % & s v aref @ IR 27
(A) SR afe e (A) =afRpeTe G
(B) T Sehe T (B) wfearss |x
(C) -5 e (C) woggTe T
(D) 3wtk # @ 15 7 (D) el &
178. S g et v’ A o 182. ;ﬁ;@%ﬁémmﬁmwﬁ
(A) 3PH A T off 7 @ (A) =% vg T |
(B) WA hieht TEHT (B) 384 wgTs it oft|
(C) e STed STTSFR B (C) o8 WA arel )
(D) 39w § @ =5 7 (D) 38X 9gTE W o off|
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183. ‘TN UH el s wrenw SR § @)’ 39 | 188. &=t o gdam it g Tt 87
T H G hITT | A) o
(A) T Fel hl TH AT ER @ TR0 B)
(B) i?ﬁaﬁqaawamﬁmml () =m
(C)@mvgﬁﬁwﬁ.mml D) @
(D) TH S SR & T Bl hl Aerl | ‘
189. frfafad # & ‘ag’ w1 wafaar e &
184. ‘Hied ] H IE &9 2
e (A) IS
(g) b (B) =
® (C) fert
(©) dwd o) s
(D) d=rd (D)
185, “sab T o 3 190. ‘G& I qEiEETl TR 2
(A) ST g T ST TR (A) T
(B) S g1 T TR (B) g
(C) St form = S E (C) g3
D) NI AR (D) s
186. Freffan & & wd e ghT 191, Fmfrf & ¥ el 7 @
(A) ¥ g e (a) T
(B) % g ST (B) T
(C) 31« gu S| (C) ST
(D) 7/ g <M1 (D) 3
187. Taiwur ferueht ferdioan sraman 27 192. ‘Heree’ s 1 dd @
(A) & H (A) i g F B arelt auf
(B) & 3R g™ H (B) W =g # g areft ot
(C) W ht (C) aui =g ¥ BN el awi
(D) W™ I (D) =it oft € et ot
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193. SfqaTes w3 wea & 197. T 3w @ 31 A # Fe-a wee wal
27
(A) ==
(B) Yrem (A) s
: (B) @rar
(C) T
(C) ™
(D) ™
D) ?
194. ‘3OS % WA # wrda wht g@ # wig
TRy Ffcat 198. I g1 ?
(A) St goE, Bt TEHaH (A) 9al 1 G
(B) e w9 g@ e (B) AT 1 THE
(C) T Her, gon A =g (C) =uTt =1 wqg
(D) a9 F el TR F W (D) =t =1 T
195. dar sifereh ot o T T e, wiifs | 199, I % fraw 9 €7
(A) 3B F ula wai? (A) J
(B) ot =HT W1 T (B) =
(C) fmi #t &g wfede a1 (C) =R
(D) 7 T afa, T somh atgh (D) dfa
196. < forelt = fad 7 2 3 T wwd B9 200. ST R AT THIE AT 27
(A) T () =f
(B) 31w (B) £
(C) 3R (C) =2
(D) weTETeRat (D) 73
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